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x
2

2

= 








x
2
 + 

1

x
2

2

  2. 

x
2
.
1

x
2 

  = 








(x)
2
 + 





1

x

2 2

  2 = 
















x + 
1

x

2

  2. x. 
1

x

2

  

2 

  = { }(2)
2
  2

2
  2 = (4  2)

2
  2 

  = (2)
2
  2 = 4  2 = 2 

x
2
 + 

1

x
2 = x

4
 + 

1

x
4 

 p
2
  5p = 1  

p  
1

p

p
2
 + 

1

p
2 

p
4
 + 

1

p
4 = 727  

  2bs cª‡kœi mgvavb   

p
2
  5p = 1 

  p
2
  1 = 5p 

p
2

p
  

1

p
 = 

5p

p
 [ p 





 p  
1

p
 = 5 (Ans.) 

p
2
 + 

1

p
2  = 









p  
1

p

2
 
 + 2. p. 

1

p
   

(5)
2
  + 2 [  p  

1

p
 = 5]

25 + 2 = 27 

   p
2
 + 

1

p
2 = 27 (Ans.) 

 p
4
 + 

1

p
4 

  = (p
2
)
2 

+ 
 







1

p
2

2
 

  = 








p
2
 + 

1

p
2

2

  2. p
2
.
1

p
2 

  = 








(p)
2
 + 





1

p

2 2

  2 

  = 
















p  
1

p

2

 + 2. p. 
1

p

2

  2 

  = { }(5)
2
 + 2

2
  2  [  p  

1

p
 = 5] 

  = (25 + 2)
2
  2 

  = (27)
2
  2 = 729  2 = 727  

p
4
 + 

1

p
4 = 727

 x
2
  3x + 1 = 0 

x + 
1

x
 =

x
4
 + 

1

x
4









x
2
 + 

1

x
2  








a
8
 + 

1

a
8  = 15449  

  3bs cª‡kœi mgvavb   

x
2
  3x + 1 = 0 

  x
2
 + 1 = 3x 

  
x

2
 + 1

x
 = 

3x

x
 x 

x
2

x
 + 

1

x
 = 3 

   x + 
1

x
 = 3 (Ans.) 

x
4
 + 

1

x
4 = (x

2
)
2
 + 






1

x
2

2

 

  = 








x
2
 + 

1

x
2

2

  2. x
2
.
1

x
2 

  = 








(x)
2
 + 





1

x

2
2

  2 

  = 
















x + 
1

x

2

  2. x. 
1

x

2

  2 

  = { }(3)
2
  2

2
  2  

  = (9  2)
2
  2 x + 

1

x
 = 3] 

  = (7)
2
  2 = 49  2 = 47 

  x
4
 + 

1

x
4 = 47 (Ans.) 

x + 
1

x
 = 3 

  








x + 
1

x

2

(3)
2

x
2 1

x
2 + 2.x . 

1

x
= 9  

  x
2 1

x
2 + 2 = 9 

x
2 1

x
2  = 9  2

 x
2 1

x
2  = 7 

 x
4
 + 

1

x
4 = 47 

  








x
4
 + 

1

x
4

2 

 (47)
2 

  (x
4
)
2
 + 






1

x
4

2

 + 2.x
4
. 

1

x
4 = 2209 

  x
8
 + 

1

x
8 + 2 = 2209 

  x
8
 + 

1

x
8  = 2209  2 = 2207 

  








x
2
 + 

1

x
2  








a
8
 + 

1

a
8  = 7  2207 

  = 15449 

  x
2
 + 1 = 6x









x + 
1

x

2

x
2
 + 

1

x
2 x

2
  

1

x
2

x
4
  

1

x
4

 





  4bs cª‡kœi mgvavb   

x
2
 + 1 = 6x 

  
x

2

x
 + 

1

x
 = 

6x

x
 

  x + 
1

x
 = 6 

  








x + 
1

x

2

= (6)
2
 

   








x + 
1

x

2

 = 36 Ans. 

x
2
 + 

1

x
2 = 









x + 
1

x

2

  2.x.
1

x
 

  = (6)
2
  2 = 36  2 = 34 (Ans.)

x
2
  

1

x
2 = 









x + 
1

x
 








x  
1

x
 

  = 








x + 
1

x
 









x  
1

x

2

  

  = 








x + 
1

x
 









x + 
1

x

2

  4.x.
1

x
 

  = 6  (6)
2
  4 = 6  36  4 

  = 6  32 = 6  4 2 = 24 2 (Ans.) 

x
4
  

1

x
4 = 









x
2
 + 

1

x
2  








x
2
  

1

x
2  

 = 34  24  2 = 816  2 

 816 2 

 34  24 2 = 






34 + 24 2

2

2

  






34  24 2

2

2

 

 = ( )17 + 12 2
2
  ( )17  12 2

2
 Ans. 

 a = 8x + y, b = 5x + y c = 16x + 2y 

c a 

(a
2
 + bc + b

2
) 

a
2
  bc + b

2
 = 9x

2  

  5bs cª‡kœi mgvavb   

a = 8x + y c = 16x + 2y  

 c = 16x + 2y  = 2(8x + y) = 2  a = 2a 

a = 8x + y; b = 5x + y; c = 16x + 

2y 

  a
2
 + bc + b

2
 = a

2
 + b  2a + b

2
 [ c = 2a] 

   = a
2
 + 2ab + b

2
  

   = (a + b)
2
  

   = (8x + y + 5x + y)
2
 

= (13x + 2y)
2
  

    = (13x)
2 

+ 2.13x. 2y + (2y)
2
  

   = 169x
2
 + 52xy + 4y

2 
(Ans.) 

a
2
  bc + b

2 

  
= a

2
  b  2a + b

2
  [  c = 2a] 

  = a
2
  2ab + b

2
  

  = (a  b)
2 

   
{8x + y  (5x + y)}

2
  

  = (8x + y  5x  y)
2 

 
 = (3x)

2 
= 9x

2 
= 

 

a
2
  bc + b

2
 = 9x

2
 

  (i) x + 
1

x
 = 5   (ii) x  

1

x
 = 4 

x 

x
4
  

1

x
4

(i) (ii) 

 x = 3  
  6bs cª‡kœi mgvavb   

x + 
1

x
 = 5 ............ (i) 

  x  
1

x
 = 4 ............ (ii) 

 (i) (ii) 

x + 
1

x
  = 5 

  x  
1

x
  = 4 

   

  2x     = 9 

   x = 
9

2
 (Ans.) 

x
4
  

1

x
4 = (x

2
)
2
  






1

x
2

2
 

  = 








x
2
 + 

1

x
2








x
2
  

1

x
2  

  = 








x
2
 + 

1

x
2  








x + 
1

x 







x  
1

x
  

[ a
2
  b

2
 = (a +b) (a  b)] 

  = 








x
2
 + 

1

x
2   5  4 = 20 









x
2
 + 

1

x
2  

  = 20  
















x + 
1

x

2
  2. x. 

1

x
 

  = 20  (5
2
  2)  = 20  (25 2) 





  = 20  23 = 460 (Ans.) 

 








x + 
1

x

2

+ 








x  
1

x

2

+ 2








x + 
1

x 







x  
1

x
 

 x + 
1

x
  = a x  

1

x
 = b  

 a
2
 + b

2
 + 2ab 

  = (a + b)
2
  

  = 








x + 
1

x
  + x  

1

x
 

2 

a b 

(2x)
2 

4x
2 

  
= 4(3)

2
 [ x =  3] 

  = 4  9 = 36 (Ans.) 

 x
2
  y

2
, 27a

3
b

3
 + 64b

3
c

3
 a  

1

3

z
2

  x
6
  y

6
  z

6
 = 3 x

2
y

2
z

2
.

a  
1

a
 = 5 









a
3
  

1

a
3  









a
2
 + 

1

a
2   

  7bs cª‡kœi mgvavb   

27a
3
b

3
 + 64b

3
c

3
 

  = b
3
(27a

3
 + 64c

3
) 

  = b
3
 {(3a)

3
 + (4c)

3
} 

  = b
3
 (3a + 4c) {(3a)

2
  3a.4c + (4c)

2
} 

  = b
3
(3a + 4c)(9a

2
  12ac + 16c

2
) (Ans.) 

x
2
  y

2
 

  x
2
  y

2
 = z

2
 

 x
6
  y

6
  z

6 
= (x

2
)
3
  (y

2
)
3
  z

6
 

  = (x
2
  y

2
) + 3x

2
y

2
(x

2
  y

2
)  z

6
 

  = (z
2
) + 3x

2
y

2
z

2
  z

6
 

  = z
6
 + 3x

2
y

2
z

2
  z

6
; 

3x
2
y

2
z

2 



a  
1

a
 = 5 

 a
3
  

1

a
3 = 









a  
1

a

3

 + 3.a.
1

a
 








a  
1

a
 

  = 5
3
 + 3.5 = 125 + 15 = 140 

 a
2
 + 

1

a
2 = a

2
 + 





1

a

2
 = 








a  
1

a

2

 + 2.a.
1

a
 

  = 5
2
 + 2 = 25 + 2 = 27 

 140 27. 

 x
2
 + 

1

x
2 = 3. 









a
2
  

1

a
2

2

 = 525 m
4
 + 

1

m
4 = 

p
4
 + 4p

2
 + 2 

x + 
1

x
 

m  
1

m
 = p.

a + 
1

a
 = 5    

  8bs cª‡kœi mgvavb   

x
2
 + 

1

x
2 = 









x + 
1

x

2

 2.x.
1

x
 

 3 = 








x + 
1

x

2

 2; 









x + 
1

x

2

 = 5 

  x + 
1

x
 = 5

m
4
 + 

1

m
4 = p

4
 + 4p

2
 + 2 

 (m
2
)
2
 + 






1

m
2

2

 = (p
2
)
2
 + 2.p

2
.2 + 2

2
  2 

 








m
2
 + 

1

m
2

2

  2m
2
.

1

m
2 = (p

2
 + 2)

2
  2 

 








m
2
 + 

1

m
2

2

 = (p
2
 + 2)

2
 

  m
2
 + 

1

m
2 = p

2
 + 2 

 








m  
1

m

2

 + 2m.
1

m
 = p

2
 + 2 

 








m  
1

m

2

 + 2 = p
2
 + 2 

 








m  
1

m

2

  = p
2
 

  m  
1

m
 = p 









a
2
  

1

a
2

2

 = 525

  








a
2
 + 

1

a
2

2

 4.a
2
.
1

a
2 = 525 

  
















a + 
1

a

2

  2.a.
1

a

2

= 525 + 4 

  
















a + 
1

a

2

  2
2

= 529 





  
















a + 
1

a

2

  2
2

 = 529; 

 








a + 
1

a

2

  2 = 23 

  








a + 
1

a

2

 = 25 

   a + 
1

a
 = 5 

 a
2
  b

2
, a

3
  b

3
 a

4
 + a

2
b

2
 + b

4
 

c
2

a
6
  b

6
  

3a
2
b

2
c

2
 = c

6
.

 

  9bs cª‡kœi mgvavb   

a
2
  b

2
 

 a
2
  b

2
  = (a

2
  b

2
)
2
 

  = (a
2
)
2
  2.a

2
.b

2
 + (b

2
)
2
 

  = a
4
  2a

2
b

2
 + b

4
 (Ans.) 

a
2
  b

2
 = c

2
 

a
6
  b

6
  3a

2
b

2
c

2
 

  = (a
2
)
3
  (b

2
)
3
  3a

2
b

2
c

2
 

  = (a
2
  b

2
)
3
 + 3.a

2
.b

2
 (a

2
  b

2
)  3a

2
b

2
c

2
 

  = (c
2
)
3
 + 3a

2
.b

2
.c

2
  3a

2
b

2
c

2
; [ a

2
  b

2
 = 

c
2
] 

  = c
6
 + 3a

2
b

2
c

2
  3a

2
b

2
c

2 
= c

6
 = 

 a
6
  b

6
  3a

2
b

2
c

2 
= c

6

a
2
  b

2
 = (a + b)(a  b) 

 a
3
  b

3
 

  = (a  b)(a
2
 + ab + b

2
) 

 a
4
 + a

2
b

2
 + b

4
 

  = (a
2
)
2
 + 2.a

2
.b

2
 + (b

2
)
2
  a

2
b

2
 

  = (a
2
 + b

2
)
2
  (ab)

2
 

  = (a
2
 + b

2
 + ab)(a

2
 + b

2
  ab) 

  = (a
2
 + ab + b

2
)(a

2
  ab + b

2
) 

 (a + b)(a  b)(a
2
 + ab + b

2
)(a

2
  ab + 

b
2
) 

  = (a
3
 + b

3
)(a

3
  b

3
) = a

6
  b

6
 (Ans.) 

 x + y = 11 x  y = 5 

x
2
  y

2 
 = ?

x
4
  y

4

xy + 31 = x
2
  y

2  

  10bs cª‡kœi mgvavb   

x + y = 11 x  y = 5 

 x
2
  y

2 
= (x + y) (x  y) [  a

2
  b

2
 = (a + b) (a  

b)] 

  = 11  5 [

= 55 

 x
2
 y

2
 = 55 (Ans.) 

x
4
  y

4
 = (x

2
)
2
  (y

2
)
2 

  
= (x

2
 + y

2
) (x

2
  y

2
) 

  = (x
2
 + y

2
)  55 [ x

2
  y

2
 = 55] 

  = 55 (x
2
 + y

2
) 

  = 55  
1

2
  2 (x

2
 + y

2
)  = 55  
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